Factor completely.
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Expand each. The square of a binomial formula:
(a+b)? = a2 + 2ab + b?
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Factor completely.
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A perfect square trinomial is the product you obtain when you square a
binomial. An example is x> + 10x + 25, which can be written as (x + 5)2 The first
term and the third term of the trinomial are always positive, as they represent the
squares of the two terms of the binomial. The middle term of the trinomial is two
times the product of the terms of the binomial.

Factoring Perfect Square Trinomials
a® + 2ab + b? = (a + b)? a*> = 2ab + b? = (a - b)?




